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library(dplyr)

n = le4 # sample size

X = runif(n,0,1)

g = function(x) sin(x)Acos(x)

mean(g(X)) # Monte Carlo approximation

integrate(g,0,1) # R's built-in integrator

plot(1:n, cummean(g(X)), type = '1', xlab = "sample size", ylab = "approximation value")

R Console

[1] 0.5000953
0.5013249 with absolute error < 1.1e-09
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n = le4

X = rexp(n,1)

g = function(x) xA(-x)

mean(g(X)*exp(X))

integrate(g,@,Inf)
plot(1l:n, cummean(g(X)*exp(X)), type = 'l'

R Console

[1] 1.999112
1.995456 with absolute error < 0.00016

, Xlab = "sample size"

, ylab = "approximation value")

See http://tchumley.mtholyoke.edu/m342/ws/day36.Rmd for code for worksheet problems.



